
Y2 – Spring – Block 2 – Step 5 – Multiplication sentences Answers

Question Answer

1

a) 4 lots of 3 = 12
4 multiplied by 3 = 12
4 × 3 = 12

b) 2 lots of 6 = 12
2 multiplied by 6 = 12
2 × 3 = 12

c) 6 lots of 5 = 30
6 multiplied by 5= 30
6 × 5 = 30

d) 9 lots of 1 = 9
9 multiplied by 1= 9
9 × 1 = 9

2
a) picture showing 4 equal groups of 5
b) picture showing 2 equal groups of 4

3

a) 2 lots of 5 = 10
2 × 5 = 10

b) 5 lots of 2 = 10
5 × 2 = 10

The number sentences have the same numbers.
The numbers are the other way round.

4

a) possible answers:
1 × 12
2 × 6
3 × 4
4 × 3
6 × 2
12 × 1

b) possible answers:
1 × 15
3 × 5
5 × 3
15 × 1
There are fewer multiplications for 15


